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Qoo Q @L{ Lab (circle one): 8:00am 11:15am 2:45pm

Quiz #1: Electric Charge

Problem 1 (2 points)

A wire contains a steady current of 2.0 A. The number of electrons that pass a given point in 2.0 s is:
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Problem 2 (3 points)

Four point charges have equal magnitudes. Three are positive and one is negative, as shown in the figure
below. They are fixed in place on the same straight line, and adjacent charges are equally separated by a
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On which of the four charges is the net electrostatic force the weakest? On which of the four charges is
the net electrostatic force the strongest?

How many times stronger is the strongest force compared to the weakest force?
(i.e. What is Fgongest/Fweakest?)
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Problem 3 (5 points)

Four charged particles are fixed at the corners of a square with sides of length 1.50 cm as shown in the

figure below. Assuming Q = 7.50 nC, what is the value of g (including 51gn) if the net electrostatic force
on the +Q charge in the upper left corner of the square is zero?
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